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Land that moves is different — 57917 SYPIPR NINW

OVERVIEW

The X773 explains that even if »7 "¥p P12 *72Y, nevertheless the 72y must be W
719102 in order to be 71p1 with the ¥pap. The case of the 72V is different than the 77
of “Xyw where 0710 7P "2 MW " 1% 10n, because the 72V is a 717 YpIpn,
therefore he must be 172102 7. It would seem that if not for the fact that an 72¥ is
»7°17 "y pn he would be m1p1 together with the ¥p7p, on account of s">X1W ruling.
mooIn (first) challenges (and then substantiates) this presumption.

nooIN asks:
= 99393 YVUNAYUN 9N XN 279 XY 199N 99NN ON)

And if you will say; even if the 2°72v are not >7%%1, but nevertheless since they

and the yp7p serve two different purposes, therefore it is understood that (if it is not
ais)ighl mmy)l it cannot be 171p1 together with the ypap -
- ANNA NP NY 191 1HNA P21hIT “a9rem *nrosins 2nm

And it is like a n°o» 17 and a 77=3% that (even) if he sold him both, if he made a

7@t in one of them he is not 7192 the other -
= NIYIY 11D (x,10 273) %20 [HNR] 99990 P93 199NT5
As the X3 states in n°27 AR 72157 P79 according to one opinion;’ how can we say

here that (if not for the fact that 72y are >7°°1) the rule would be 272V 717 ¥pIp2 P°1nn wherever
they are, since they serve two different purposes.

N1v0IN answers:
IYPYP HNAYY NN TAYNY 399 WINUM TH 2PUN PP TayT MY Y

And one can say; that an 73» and ypap are considered one (and the same)

usage, for an 72y is fit for working the land. Therefore if not for the X120 of 71 the
72y would be 7371 through HXmw PIp.

SUMMARY

! See »'"m1 and AN NI 1" WM.,

* The »"w77m amends this to read 791¥11 N°D71M2 12°0K0.

? The o"awn there cites the 1" who explains it to mean a sandy soil, from which glass is made.

* The 0"awA there cites the 1" who explains it to mean the riverbed from where gold and silver are mined. Others
interpret it as a trap to catch fish.

> The X3 there differentiates (according to this TWw9) between the case of YXmw (where 121 MTw " 12 12n) and the
case of 791871 N°07m; that by 78w it is Rnw »wn &1 and therefore he is 2213 717, however by a 7323 N0 itis »n
v nwn and therefore he is not Np the other. The same should apply to 72y.
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An 72¥ and ypap are considered wnwn 7.

THINKING IT OVER
Why is *w>»wn >7n a stronger difference than >7°°17!
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